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Write any two the advantages of railways over water transport. [2]
Compare railways and highways with respect to right of way, gradients and curves and  [3]
suitability.

What is IRCON? Explain its function. [2]
Explain switch-back method of alignment of track in a mountainous terrain. [3]
Write any two advantages of coning of wheels. [2]
Differentiate between SWR, LWR and CWR. [3]
What material as ballast you would suggest for high speed tracks and why? [2]
Discuss any three different methods adopted for subgrade improvement. [3]
Why is that low gradients are provided in station yards? [2]

On a B.G.3° curve the equilibrium cant is provided for a speed of 75 km/h. Calculate [3]
the value of equilibrium cant. Allowing a maximum cant deficiency, what would be the

maximum permissible speed on the track?

Write any two primary objectives of using transition curve.

[2]

Determine the length of transition curve for a M.G curve of 4° having a cant of 8 cm.  [3]
The maximum permissible speed on curve is 60 km/h. Draw the offset at every 10m.
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